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He sent it in the hands of a wise man and he remembered, etc.

Overview

The x7nm3, searching for a m1wn ano which rules like 777 ' (that wIps is A1 2707
but not 7122), cited the following fwn; if one inadvertently sent w75 money (with
a ‘normal’ adult) to a storekeeper, and the sender (and his agent) remembered that it
was W71 money before giving it to the storekeeper; the rule is that if the storekeeper
spent the money, only he is ¥ (for he was a 3 W), however, the sender and his
agent are not > for they were 0711 (just as °" ruled). nwown explains why the
X713 cited the X9°0 of the 71wn instead of the Xw.

n1voIN asks:
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And if you will say, why did not the X713 cite the Xw"9 of this 71wn (which is also
according to °"7), which states, ‘if the 721 of w7pn inadvertently sent the wpn

money through a JuPY W w9, the rule is —
= DY 23N IMNHY WY KD 2Hymn 933 IMNIHY WY

If the 1"wn did his bidding (they followed the s instructions), the 9213 was by»,

however if they did not do his bidding, the 111 was %%’ this concludes the xw™ -
- 3795910 1299 295N AW MNT XN NNRYN

It is evident from the Xw that whenever he was a amw he is liable for a §23°p
9907, so why did the 13 need to cite the X5°0, when we can derive it from the Xw*1?

N150IN answers:
- 499Y XY Y9N RY D121 SR YINNM INIWAT KIN NI KY NODDNT 19 ¥

And one can say; that from the X>7 we only know that »nn» axwsa, however

we do not know from the X" that »9»rnn RS 792 -
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However from this X5°0 we derive both (rules of 2w and 7°1»), for since he states
that if the sender remembered before it reaches the “31m, the rule is that ¥ "11n,
but not the na;7 »¥2 (the sender) -

' A v'wn are a deaf mute, an imbecile, and a minor (respectively).

2 See the ®m3 in X, 79°vn, which explains why the 7213 was 7v» even though the 1"wn are not Mm>w 12,

3 The 721 (in the case of MM*5w W) and the >11n (where 1MW WY X9), were both 3w and they are 77°y» 127P2 270,
4 There is no 7> in the Xu1 (they were all 2aW).
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It is evidently apparent that by 75t% (where they remembered) the w7pf is not

B5rnn (there is no 72°vn) -
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and since the 71wn states, ‘the *111m is ¥ when he spends the w77 money’, it is
evident that ®>rnmn 232 (that there is 79°¥1 by 3w [only])

Summary
From the X (of 1"'wn 72 n2°w) we only know that H2rinn anwa wipn, however from

the X0°0 (of 121 101), we know both that 55mnn 1K 79121 Yonnn awa.

Thinking it over
Is the proof that 52nnn X2 7112 from the fact that the 2"7v2 was not v, or that the
oW was not Hyn?°

S If wpn is 72 Yonnn, why is the Yyn »1mn, it already was 221nn when the *1n received it; it is no longer wpn. See
‘Thinking it over’.
® See w"wn and 7wn nom.
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